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hirotaka_yanagiya530
楕円

hirotaka_yanagiya530
楕円

hirotaka_yanagiya530
線

hirotaka_yanagiya530
テキストボックス
　災害2号箇所　L=55.0m

hirotaka_yanagiya530
テキストボックス
　災害3号箇所　L=32.5m

hirotaka_yanagiya530
線

hirotaka_yanagiya530
線

hirotaka_yanagiya530
線

hirotaka_yanagiya530
テキストボックス
　　　　　凡　例

hirotaka_yanagiya530
長方形

hirotaka_yanagiya530
グループ
工事箇所

hirotaka_yanagiya530
長方形

hirotaka_yanagiya530
グループ
既設林道

hirotaka_yanagiya530
長方形

hirotaka_yanagiya530
長方形

hirotaka_yanagiya530
楕円

hirotaka_yanagiya530
線

hirotaka_yanagiya530
線


% FEX

E 4 RILBFMEER TIAHRMEEE
& INERRMEXEEIBLSE
w R 1 : 400

BM. 2
H=29. 000m
X

{R#EEYIT 59. 4m JKiZE2. Om

S
X}
s &
~ c
) 155
~ o & 84 3 .
Oy =3 IS o
< e 1)
NP *® o w
N =
e =)

IP1
R=50

R=50

1A=26° 17’ 1A=30° 59’
TL=11.7 TL=13.9
SL=1.3 SL=1.9

CL=22.9 CL=27.0




0.7 km
No. 1-1

2

9L0E3 000 +000 + 9L°06 | 9L06 T 0SS

T 600+ 906 + 9906 T G609

7800 T 9806 + 806 + 00V

7800 T 80 + 0c0¢ + 0L
2\ 600 + + G0 + 906 + 07¢€

T600 + T W0 + <00 + 870¢

16070 | L 6 | 860 | G

TH0 + - 066c + 986 + 67

TWOO T T €6 T 186¢ T 070¢
(09623 20°0 T 096 T 836c T Gl
m—u O

¥G6C3- 000 +00°0 + Y560 + tG6C T 070

35.00
30. 00
25.00

P2
50

EEIRIE

H = 29.000

RILBFMEER TIAHRMEEE
D)
BM 2

.

DL = 23.00

IN=EZPN N

00¢ - L =A




= % TEETE
z £ RILHMEER TAHFMEEE
£ b1 INBRRMEKEEIBRISE
@ R 1 : 100
MC1(11.5)
+0.02
7
,
/
//
/ FRIES1=15. 6
/ BROSBS T =T
/
/
/
/
BP=BC1 (0. 0)
+0.00
|
/
/
//
/ R¥ES1=13.1(12.3)
\T_: / HE@)=7.1(1.0)
7/ \\ /
\\ /
\\ /
v\ /

W 2 0.7 km
No. 3-1
EC1(22.9)
+0. 04
L(S1)=0. 1
V4
i
/
/ ]151=0. 1
/ FREES1=15. 1 (14. 8)
j 1R (C)=8.4
/
/
/
20.0
+0.02
L(S1)=0.3
; </
/
/
/ ¥1+51=0. 1
/ ER¥ES1=15. 5
| 125 (0)=9.2




- TR A
=z £ HIHMEER TIHEMKEEE
P b1 INBRRMEKEEIBRISE
8 R 1 : 100
30.8 MC2 (37.0)
+0. 09 +0. 08
L (BA)=0.2
7 ~
/
//
Lg——"" FRIES1=3. 6 FRIES1=3. 0
| FRIER2=8. 6 FRIER2=8. 6
} 18 (C)=5. 5 18 (C)=5. 3
|
|
|
|
i
BC2 (23.5) 32.0
+0. 05 +0.09
L(81)=0.1 L(BA)=0.2
/ ~ ~
/
/ H1£51=0. 1 ———
S FIESI=3. 1 S 5 FRIES1=8. 7
- FR¥ER2=7. 6 - y " ER¥ER2=6.0
I——— I 15 (C)=4. T / ,qlL// 185 (C)=4. 5
| S |
} SEEEERES. Om2 x 2. Om=11. 8m3 I I
|
B ] N




£ TEETE
2 % HIH/MEER TLEHZMEBEEE
£ b1 INBRRMEKEEIBRISE
@ R 1 :100
EC2 (50. 5)
-0.02
1
/
// t11£S1=0. 1
/ FRYES1=15. 4
/ 1R (C)=8.7
N - /
\ /
\ /
/
//
: — 40.0
+0. 08

P £51=0. 1
FRYES1=14. 7(15.0)
R (C)=8.2

2 0.7 km

EP (65. 0)
+0.00

No. 3-3

PR¥ES1=16. 8(15.8)
R (0)=8.6(8. 6)




% *ﬁﬁ *&ﬁé%% 2 07 km
No. 7-1
= £ HILHFMEER TIHEMKEEE
£ b1 INBRRMEKEEIBRISE
@ R 1 : 100
IF |
-L-1(b.9)
MC1 BP=B(1
20.0 11.5 0.0 b a
L 8.2 4 11.0 64i 1.35 4'
mEEa o )—F
. -  — — ——— — - — 7
E/H B #th#t
7.780 10. 61 0.4 1.35
0397039 o
52.98




((5 =
% *ﬁﬁ *&A%"? 2 07 km
No. 7-2
= £ RILHFMEER TIAHEMEREE
£ b1 INBRRMEKEEIBRISE
@ R 1 :100
iIF M
GW-L-1(b.S)
N2 BC2  ECI
40.0 37.0 23.5  22.9 20.0
L 2.8 4 50 6.9 @74 2.99 AI
i
e | B - Mt
|
| I
| /
2.45 13. 11 2.62
0.31°0.31 19.28 0.24 0.24
52.98




% *ﬁ)ﬁ *&"J‘é%% 2 0.7 km
No. 7-3
=z £ HILHFMEER TIHEMKEEE
P b1 INBRRMEKEEIBRISE
8 R 1 : 100
IF |
-L-1(b.9)
EP EC2
d ¢ 55.0 50.5 40.0
; 1.5 ;Lg; 4.4 :; 10.2 ;
ek s ) — b
_ \ _
- \‘\WL
‘Etmﬂ
|
1.50  0]40 14.53

52.98




£ #ER
E % RILHAMEER TIAHMEEE
% W INBARMEXEEIBLSE
e R 1:100
20.0 W5

BRES 2 0.7 km

No. 7-4

BP=BG1
0.

- o

8.0 I

Fxy kYt —o &
— — —  Zyy kYA —EA




£ BER
E 4% RILFHEER TIAHHEESE
& I INEBRMREKXEEBISE
w R 1 : 100
40.0 W0

32.0  30.8

BRES 2 0.7 km

No. 7-5

BC2 _ EC1
235 22.9 20.0

1.7
2.6 13.5 2.8
] O T | T
2.6 3.3 2.1
1 e T

Fxy kYt —o &
— — —  Zyy kYA —EA




£ #ER

E % RILHAMEER TIAHMEEE
% W INBARMEXEEIBLSE

e R 1:100

EP EC2
56.0 50.5

BRES 2 0.7 km

No. 7-6

40.0

Fry bor—oRA

— —  Fry b —H R




£ #ER

E % RILHAMEER TIAHMEEE
% W INBARMEXEEIBLSE
e R 1:100

mEREa > o) — b

5.000
4.500

Y

1. 650

ErEfR=4. 331m2
B EFE=5. 125m2 FF=9. 140m2/m

F#=10. 155m2/m

2

0.7 km

(U
6-L-1 (b. )

5.000
3.800
4.500

0,700,

¥ E#5=4. 585m2
W E#E=0. 445m2 F#=5. 200m2
R#=b. 800m2

HAERR=4 330m2

BHAFEHA=3.918m2

No. 7-7




O FEE BRES
z £ RILHFMEER TILAHFMEESE
% o1 INERBRMEKEERIBISE
wm R 1 : 200
{1 35.0m sKiZE1. Om
\\
BM. 3 avy ) — R
;54. 000m \ \ a@EL(»)L(E 8%1 1=32. 50m
I —
— T [
<~ A=
s —— e T T O s s =
T N A S S A A N N S A

1 /
0 PAIARRERARAN

O
— — [N N> m
= =) ~ S = © -
—~
= o o = o o <
e <




0.9 km
No. 1-1

3

(€953 000 1000 + 2668 + €% T GTE

IR

<4<

T TG00+ 1e9 + 99 T 0%6¢

3.8
2.9

T +80°0 + ¥09 + ¢ T+ 0%

k@Tooo%So% 695 + 6% + 0°0¢

T T30+ 195 + €% + 07l

EEIRIE

/INE % IRMIE K

T T3¢0 + ¥§YS + 95¥S + 070!

1.70
20.0

RIHAMEER TIAKRMEEE

60. 00
55.00
50. 00

BM 3
H=54. 000

DL = 48.00

CLEIEY 000 1000 + LL¥S + L19S + 070

BH
CH
FH
GH
SP

00C - 1 =A




3

0.9 km

£ 1Y

E 4% RILFHEER TIAHHEESE
£ b1 NERBRMEKEEIBLSE
w R 1 : 100

=
=
-

\

=
=
-

\

10.0
-0.02
L(81)=0.1
/
/ g1+51=0, 1
EIES1=7. 0
/ 1B (C)=5. 0
/
BP (0. 0)
+0.00
/
/ g1+51=0. 2
/ EIES1=9. 3(8. 7)
5 (0)=5. 7 (5. 6)

No. 3-1




£ 1Y

E 4% RILFHEER TIAHHEESE
& I INEBRMREKXEEBISE
w R 1 : 100

q\ —

0.0
+0.00
L(s1)=0.1
g1x£351=0. 2
PRYER1B=6. 3
1R (C)=2.8

R @Qv))-M=1.6

P1151=0. 1

PRYES1=6. 3 -

R (C)=5.2

HKES 3 0.9 km
No. 3-2
24.0
-0.08
L(S1)=0.1
—~
£11£81=0. 3
PRYER1B=5. 5
#BR()=3.0

BER@a)-M=0.7




£ 1Y

E 4% RILFHEER TIAHHEESE
£ b1 NERBRMEKEEIBLSE
w R 1 : 100

EP (32.5)
0.0
L($1)=0. 1
g11£351=0. 2
FRYER1B=9. 5
R (0)=2.0

R (307)-H)=1.6

P1£351=0. 3
FR¥ER1B=10. 3
EER()=2.0

18R (3v9)-M)=1.8

3

0.9 km

No. 3-3




% *ﬁ)ﬁ *&"J‘é%% 3 O 9 km
No. 3-1
2 % HIH/MEER TLEHZMEBEEE
] REEXERAT :
P b1 INBRRMEKEEIBRISE T &
@ R 1 :100 GN-L-1 (b. S)
20.0 12.0 10.0 BP b
3 ‘ EIE s 1 — k
= | —
| B3t o
: s 1 T 8
= 8 8| o 3 -
| T < N =
- — [ —
,:/// - : //m 0.90
| 0,40
_ 6.00
8.00 2.00 10.00
EP
BES810h1)— B 32.5 29.0 24.0 20.0
B
E . _— /\ ~
=g T~ g
: ~ \/ NS
L 12.50 B




BRES 3 0.9 km

BEX

No. 3-2
RLAHREED TIAHEEE °

INERRMEXEEIBLSE

ro 1o il &

G-L-T(b. S)

mERLEI VY ) — b
BP 0.0, 12.0 2.0, EP

3.000
3.000

4.000

> R o
1.300 =
1. 450
—t
1. 650 =
Eﬁﬁ%ﬁ. 550m2 ! 1.700
FIP=6.132m2/m BT EFE=2. 663m2 1.900 S
FI#:=3. 500m2
FRIFEEI=2.610m2 B EFE=3. 825m2
=4 600m2
B FEEIH=3. 505m2 T EFE=5. 445m2

FU$=5. 800m2
BRIFEI%R=4. 330m2




% *ﬁﬁ *&ﬁé%% 3 NO: |;m
2 4 HILBHEED TLAHSES o
£ f71 INERBRMEKEERIBISE
i R 1 : 100

20.0 12.0 10.0 BP b a

16.2
I | 20 _
20.0
. 0 _

ae)

EP
32.5

Frv bor—URA
Fry b+ —H B

29.0 20.0

BRE%av)-MgEEE






